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Q.1: Which of the following matrices are conformable for addition?
1 0
2 1 . T3 - -y F4
A=[_1 = e c=|z 1] p=[2}1]
1 -2
Q.2: Find additive inverse of the following matrices:
1 0 -1
T2 & i
a=; 1l B=[2 -1 3] c=|_4]
3 =2 1
1 0]
O=|=8 —a _[1 0 #3
g E=[y 1l F= [_1 ﬁ]
. _[-1 2 _
Q3 IfA= [ > ,B= [ 1] C=[1 -1 2]and D= [ 1 0 2] then find:
P 1. A
G). A+ [1 | (). B +[ ] (iii). C +[-2 1 3]
: 0 1 0 :
(iv). D + [2 0 1] (v). 2A (vi). (-1)B
(vii).(-2)C (viii). 3D (ix). 3C

Q.4: Perform the indicated operations and simplify the following:

1. 2 0 2 1 1 3 1 0 2
([0 ol 13 o ) & [1 0 (1). [1 ([3 0] [ )
1 1% 1
(ii). [2 3 1]+ ([102]—-[222]) (iv). l_l 4 _1 ¥ 5 2]
12 3 1 0 -2 0 N L& i H
Wy 12 3 4l#l-Z & o ~ (M1 28 W
L 1 2 0o 2 _J i ([0 1] %, [1 OD i [1
1, 2 2 R N | =1 0 0
Q.5: For the Matrices A = 3 1|,B=1|2 -2 2} andC=|0 -2 3| verify the following rules:
1, =1 0 3 1 3 . T 2
(i) A+C=C+A (i) A+B=B+A
(iii). B+ C=C+B (iv). A+(B+A)=2A+B
(V). (C-B)+A=C+(A-B) (vi). 2A+B=A+(A+B)
(vii).(C-B)A=(C- A)-B (vii). (A+B)+C=A + (B + Q)
(ix). A+(B-C)=(A-C) +B (x). 2A +2B=2(A+B)
! o _TONGONY
Q.6 1fA=[; | anan=|" 7] find
(i). 3A-2B (ii). 2A'—3B

Q.7:If 2 [_23 3] -3 [; _1’4] = [178 110] then find the value of a & b.

o FL @ L o : _
0.8 If A= 0 1] and B = [2 0] then verify that:

(i), A+B=A+HR i
(i), A% A i tri UL [ < :

Zin: S (iv). A—A" is skew-symmetric.

V). B+ B'is symmetric. : s .
v o (vi). B-B' is skew-symmetric.



